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Mark Scheme

Annotations used in the detailed Mark Scheme (to include abbreviations and subject-specific conventions)

June 2018

Meaning

Annotation

Tick

Development of point

incorrect

Irrelevant (material which doesn’t answer the question)

Caret sign to show omission

Opinion

Just/Justification

Good language

Poorly expressed

Past tense correctly used

Future tense correctly used

Present tense correctly used

In

Accurate language

aHEHEIEEHE RIS 5P

Inaccurate language

Abbreviations Meaning

/
()

Alternative and acceptable answers for the same marking point
Words which are not essential to gain the mark

Underlined words must be included to gain the mark
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Subject-specific Marking Instructions

You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the end of
the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the marking process in

order to spot excessive lifting in tasks 6 and 7. The texts will not appear automatically on your marking screen.
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Section A: Listening and Writing

Task 1: “Life goals for young people”

Task specific guidance:

June 2018

° Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)
. For single mark questions no annotation is necessary just enter 1, 0 or NR.
. There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark

or when a word in the response invalidates an otherwise acceptable answer.
. You may also use the highlighter tool to show harmless additions.
. Answers in Gujarati get no marks.

Question Answer Marks Guidance
[6]
a Accept any two
- To give specific direction to our life .
Accept:
- Ambitions make our life meaningful / valuable/without oo )
1 To become what they want to be in life -doctors /engineers.

ambitions , our life seem worthless.

- To fulfil our own ambition / allow to choose own profession

-fulfil others’ desires or wishes / feel the pressure to obey

elders to join family business or Politics

They have to join family business / Politics etc because of family
pressure.
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Question Answer Marks Guidance
[6]
b (i) Because they are away from reality / They do not always
come true in real life / They are unrealistic goals 1
(i) They are impossible to fulfil/ achieve/ complete/ people 1
would fail to fulffil..
c A person experiences extreme frustration / becomes very
depressed/ disappointed / sad/ have to face failure or defeat 1
d
By not giving in to failure/ bouncing back / By not accepting
1

defeat / by not giving up / become more persistent in

achieving goals / setting up even higher goals
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Task 2: Asx2ld-l Qisuzs(d

Task specific guidance:

° Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)

. For single mark questions no annotation is necessary just enter 1, 0 or NR.

. There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark
or when a word in the response invalidates an otherwise acceptable answer.

. You may also use the highlighter tool to show harmless additions.

Question Answer Marks Guidance
[22]
Accept any two
(5 ) o2l WA gg ¥ Wl GHRell / URsl AlSl o xcli 8l 1
-l elRcllal atél 7 culEAN A& sul /aldl 3 @ewell oudi sl —P—?CCG t -
242 [ BUA[AA Aisl / sy @dl QAL A
A HIL AR ASL MR o SlaL 7 ouH(SaU LSl | o 8laL. 1

w144, ¢ia for illiterate

(W) Accept any two answers
U oAl 51l Gl A (A Ul A sl AvalHl HeE HAL.

Rl 9pAA1AL 7 oAl yost dAlFell wotcll o sl astal.
-ASL Aol UHY ASA AUl Aol uleie HIRN 2AsA / AseloU Kol 1
SOUHSIRAL GRIL e / [Asta vl
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Question Answer Marks Guidance
[22]
ey | () wel el yeoll sl / claaictell / tul aundl /atdfldedl ewnt 1
AsUBRHL RNl Sl B ALHIeRL AASA of AHHLRL.
(i) Udciotl HlattHl usiHell / Yaesl iucell Aotas o sdl ¥ cuesal 1
281§ sal HRell A / Hllell ol sl
(i) M2l etdle] AsUld 13 Ate Av{lal Uedl 29 sclHl ALad. 1
(&) AHL (AL elosell o1l url) cotru(Qull wal gell, ug-uellzll dxe %0,
uddl ®al [@Avlel / yslQeti Qe 3Wlell AHA Ul AR 1
() (i) WRUWRs 20120 susi |
(ii) Aotyol SASCL 1
(iii) 9JoRActoll AN SRR iRl dalR ad AU ,
(®) (i) Yol €2 A wlcll scusFololl crgullell W2l w2l UREHL Aual ,
Ascld B / [sid 52 B.
(i) QAU RURS AIURA cAURlHl HEE 52 B, / s AS 12 / sl 1
A8l / s3] dlRalHl HEE 52 BD.
(%) (i) URSIR olloll/ AH/ Ay 5(22 Gelollal wiles HEE 52 BD. 1
1

(ii) %90l N Bell / URglAs stAsle] wet 52 B.
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Task 2: 91%RLde(l Als s Continue.

June 2018

(%)

Accept any three
-(HRAHL A8) 3RAUA A sl WA B.

ocll(AURA Aol YADIHL Als Ad(ctoll SALSRAeAL sLIsHL AW B
/ UAE scll AU B,

-8l sAlsRell stisHl AW B.

“URULRS JRGU-A™ AtlR URAE Scll AlRUL B,

-ellageol AHRENML Yclloll A dUHSLe UE /7 UdASU Ul e
Ad Ul U MRl UdE sal AUl B.

@)

)

Accept any one

ARAlRl AARA /7 Rl / Bl 7 ol sardml aL

yollell / atMsiell atdloll uQL AL WA 8.

-Als s(AANA ARl dal Als sAsRIA AUAAL olldl ARid
AlsQa cell B.

(i) URB1R, AU el Yclloll AlsUR(Ae] Heel UMY Rl ©.
(i) Aell (QQYU 3Wa olRayds wusilcll &l .

(i) UREAML cttcll Al Ul Wdlell Alsds(QAHUL U S
al .
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Task 2 cont...9]%Rldo{l AlsArsA

QoL: Read response again and assess for language.

° Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not
essential.

. Grid C.2: Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. Identify the band which
best matches the performance. If you identified the band without hesitation you must award the higher of the two marks.

QUALITY OF LANGUAGE - ACCURACY

GRID C.2 10 marks AO3

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex

7-8 . . -
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct

56 use of complex sentence structures. The performance is likely to be patchy and inconsistent.

Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival
3-4 agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced
by the candidate’s first language.

Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common
nouns). Frequent first language interference.

10
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Section B: Reading and Writing - In Section B there are 10 marks for Quality of Language.

Task3  g€clell 3U

Question Answer Marks Guidance
[6]
5 9 1 o
Multi-choice
W q 1 Marks entered individually. No need for annotation. Enter 1, O or
NR as appropriate.
al S 1
o 3 1
A 2 1
&9 u 1

11
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Task 4: §€ctell 3W

Mark Scheme

June 2018

Question Answer Marks Guidance

[9]

5 ugel 1 1 mark for each correct answer

w Uslad yedlet 1 The marks are awarded individually. No annotations are

_ necessary.

Al W 1

31 gAML 1

Il 891y (cl 1

) 2uella 1

o $RAULBL Al 1

% UsURA< 1

2 allotadg 1

12
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Task 5: §€Rclell 3Ul

June 2018

Question Answer Marks [5] Guidance
q el 281 / AL UL Q| 7 Hi Yalsl U a8l 1 "
Gap-fi
Q2 qedl /7 yldwsl / Hiet 1 No annotation is necessary. Enter 1, 0 or NR as appropriate.
) ) Ignore mis-spellings.
3 HIRL ottt / slletHi 1
¥ UUARRAA / YAl 1
Y el dlut /7 a8 el /7 sl cllar 7 ustell cluiy 1
vadl dlul
Task 6: €ctall 3Ul
Question Answer Marks [5] Guidance
5 ogH{lotui WlesiH 3. 1 Sentence Completion
Marks entered individually. No need for annotation. Enter 1,
W WoLSl o1 / WRLeL U 013 7 B3I well 213)/ g otoll 1 0 or NR as appropriate.
oY,
al dAluMlel / GWlclilet / aRHle] Yyl 1
31 ud| clloll / A UL wcllell / Ysies scltoll /vl 1
wcllo(l /o2l cAURNE / WAl U wclloll
| aAlRalrk GuaAL 531 asta 7/ s3Il audl ¥ Gaus 531 asla 1

Adcl / WAL ot AlA dall Bt A 7 e, udet, 50 A

13
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Task 7: §€Rclell 3Ul

Task specific guidance
e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).

e Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear
on the screen.

e Go through all the responses and assess every question for comprehension.

Marks are awarded on a point by point basis, according to the mark scheme.
b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL

C. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes slightly
but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is gibberish).
Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with single words
/ short phrases.

Annotations:

Award 1, 0 or NR without annotation.

Use a tick (v') to indicate a mark awarded on any question where the answer is more than one mark.

Use a cross (x) when a word in the response invalidates an otherwise acceptable answer.

Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude
from Quality of Language assessment.

14
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Task 7: HUAs % Huoll

June 2018

Question Answer Marks Guidance
[10]

$ (i) welle ugwel 1 Accept “ £t Ul WRlle{l AU ” for water pollution
(ii) Accept any three answers Do not accept just * UEMRL
AR Yol / AHgell YA / RUE A / HeARAA
oll2l Ucl HRA Gallotell UR AU /BAS UR UAR AU B /
ulas Ue B. !
-l [HopRA / @R / 2totaRly Uy He] Ulaicuas @éd
el .
-l Mdlawas 8 otell. 7 wett Gousal 12 st ot

ALLd. 1

-ulglell adi A2 7 ol e 8.

W -0 GRL dAHIH Ao WML 52 8. / esal Auiell lawsj | 1
el HA B/l MR %33 w0 Y3 W 8.
—os2l(fl wolctoll UAs Hslot Arg(AA A3l UES 1

al Accept any three answers
A8l ool al€lell 513 / (5alR (Aals UsiRell s (Al
/4l 831 Aell) 5UA oML 33 B. 1
-ALSL daUl Ul AH eiletl 52 B. 1
-ASL ool AAElotl BollR susl DA ® / YA & / A 52 . 1

-sRUMLARAMI 5U ool A€lott WRlHT scunl 1A B,
ool o €lHl ¥ RARA ottt Ul 6l 8/l oltat W 8,

15
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Question Answer Marks Guidance
[10]
o Qaui €35 Wlotl Asollost Aol AHeY AW URRAQ 1

Aol AU HL dqEat maaal M /ol slulaal M2

16
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Task 8: SL¥lel.A. (212 (Ule21

Mark Scheme
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Question Answer Marks Guidance
Translation into English [10] Content Levels of response
1 To explore the mysteries 1 Award two marks per translated section GRID H.2
according to the grid below. This grid TRANSFER OF MEANING
. assesses Transfer of Meaning into 2
f th . L
2 or the universe, 1 English. Note that this grid integrates Accurate transfer of meaning.
S Quality of Written Communication Strand | Faultless or virtually faultless
3 humans made good use of their thinking 1 (i) descriptors. grammar, punctuation and
power spelling in English.
4 . . . 1 Exceptional responses and marks to
to do various inventions. award: 1
5 Over the time, human needs changed. 1 , _ Inconsistent transfer of meaning.
g 1. Cand_ldates may answer in faultless Mostly accurate but there are
o English but may not transfer errors and/or missed details.
6 Therefore new scientific research took 1 meaning accurately. Award either | There gre instances of error in
place. Qor 1 mark_, depen@ng on level of grammar, punctuation and
inaccuracy in meaning. e :
7 On that basis, technology has also taken a 1 2. The transfer of meaning is spelling in English.
very big leap / developed massively. accurate but contains significant 0
spelling and/or grammar errors. Very limited transfer of meaning
In this way, human needs i : '
8 Y 1 Award 0 or 1 mark, deperjdlng on A substantial number of elements
level of inaccuracy of English. . .
misunderstood or missing.
9 have become the mother 1 Significant error in grammar,
punctuation and spelling in
10 of all inventions. 1 English.

17




F884

Mark Scheme

Task 9: Question Sl A, ($a1R M2t
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Answer Marks|[6] Guidance
5 SENUL 1
Sentence Completion
Marks entered individually. No need for annotation. Enter 1, 0 or NR
1 : ,
W AU /7 8891 / AGUAL 7 oUW /LA as appropriate.
al UAR atll /Aot WRalE 213 / 1
§50]/ cA$lclclo] /AUAHotclle] YHIeL atll o]
8.
o el (Asllatl/ [(ARURLY / 9AIUR ot SlA A/ 1
(el
| Ueol 59 / WH] / u&G seldlad /el 1
aollelR
£ HEEIU / AGlAS / USlASIRS/ MEESA / 1

GuA(l/ HeedR

18
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Task 10:  SL3lel. 3. (312 AL
Question Answer Marks [6] Guidance
P A5 Aoll %o AU / AEL Ul B dAUIURILA el HA & A (Al R 1 Do not accept ” 2%l HUBA «
W Hogs sl / Asél srell 1 Do not accept * Al “
| HL Wedtell Hzetl 7 €388l ucdl 7 Wdlst / Acl2Ael /el 1
e 5185 e of Aetg Aa sl A AV, /7 Blell ot @G Ul ald ¥ ygld ag gvcl. 1
518 st ol ol 539 URL A WL AR /s3] Add UG AU/ AU Ucdd UG
AUl -6l ol scl.
Y oNsaRl / UL / MY / UscR solitclodl 1
& AR Blscl / Rauoll wevn Y8l xcll / yela wsdl. 1

19
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Task 11: SLalel. A, ($212 (o221

Task specific guidance
e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).

e Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear
on the screen.

e Go through all the responses and assess every question for comprehension.

d. Marks are awarded on a point by point basis, according to the mark scheme.
e. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL

f. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes slightly
but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is gibberish).
Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with single words
/ short phrases.

Annotations:

Award 1, 0 or NR without annotation.

Use a tick (v') to indicate a mark awarded on any question where the answer is more than one mark.

Use a cross (x) when a word in the response invalidates an otherwise acceptable answer.

Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude
from Quality of Language assessment.

20
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Task 11 SLAA.A. (o2 Q=L
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Question Answer Marks[10] Guidance
5 9JAdURAA % saUA dfell sl flad A U $R2L Wllell 1
518 U / [A2uell / drdg %32 Blsdl A .
wW (i) Ul ool scMi el fla A ouAYl JadouRetl 1
SLalot A, Anctcumi 2 8.
1
(i) Aol ARuuHE oflest ASletl SLAARA. WA scUHL AL
8.
() AUAUULARA AUl wiefcl@ls HBAAA / 1

al

SLalot. Aol 22U6 AW B./ IR US|l Al 2sta
8.

(ii)9fell 53 oflost Eai Ul et/ ewdll R, uctst
AL dalolRa Uussall HI2 WAL A A6l W
Ul / AYsct A siH 52 B.

21
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Task 11 Sl.3lel. 3], ['SDR (ul=2a1 (DNA Fingerprinting) Continue

Accept any three answers
3| , , o
- ARUAAHL /7 HUELAAML / SleHl ciotl uma Yl 1
U ARl vedAl / $RAEL / catlclall [RAASL otell Al
YRl / A 51010l Rk Al AR W A stell L
aes ascll / dasclls ud 8.
AL olattadl sl 7/ wlel Wrdle W oflost 20l s 8. 1
-9JdURl ASlA A2slAEUR 3l 7 Ul A / worRwdll
oflost Sl Ealui Yud 8.
A Accept Any Two 1
-[Qsltotal 5120 UL et HUAUML HEE HA B /
&L HA B. / A wdal oAl o ®. Do not accept the words &8s ol M&s if reason is not
- ARA 7 AdxelRlyds Gullol sauedl ets wa 8 1 given such as AU Gullal or Wlel Guallal
-Aoll Wel 5 2oL GUAdL / gaulaL saell / Guallal
scML Alctlell of vl AUl ajsilet / sl UGl ugs
A5 B / as ool B,

22
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Task 11 SLAA.A. (o2 Q=L

e Assessing Quality of Language across Section B

a. You will get a separate screen which will be the whole page for exercise, 5, 6, 7, 9, 10 and 11 (unannotated). Read all the answers again.
You may use the green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential.
b. Apply Grid C.2 and enter the mark.

C. PE to provide specific guidance on which exercises in Section B will provide best evidence for Quality of Language.

23
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QUALITY OF LANGUAGE - ACCURACY
GRID C.2 10 marks AO3

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

7.8 Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct
use of complex sentence structures. The performance is likely to be patchy and inconsistent.
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns,

3-4 adjectival agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly
influenced by the candidate’s first language.

0-2 Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common

nouns). Frequent first language interference.

24
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Section C: Writing

Task 12-19

Task specific guidance

Mark one essay using the grids N, O, C.2 and F.2.

If a candidate has written more than one essay mark both essays in the normal way but enter the mark for the essay which has earned most marks
over all.

Question Indicative Content Marks Guidance
Task 12- | No Indicative Content — personal response [25] | Grid N guidance
19

3—-4 — No specific example from TL = cap 4

5—-6 — Demonstration of originality and/or imagination — applies mainly to
imaginative

7-8 — Imaginative and/or original response to task — applies mainly to
imaginative

Grid O guidance
6—9 — Straight narration = more 6/7

Evidence of some argument = more 8/9

25
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Task 12-19 — Language (QOL) — Grids C.2 and F.2: [20 marks]

Question Answer Marks Guidance

Task 12- | Assess for Quality of Language using Grids [20] Read the whole response again and assess for Range (Grid F.2) first — i.e.
19 C.2 and F.2 vocabulary and structures. Then assess for Accuracy (Grid C.2). Key words
Appendix 1 have been highlighted in the grids below. Ignore final sentence of 3-4 band in
Grid C.2, because vocabulary and structures have already been assessed
under Grid F.2. If you wish, you may use the underlining tool (--) to show
language errors if you find it makes it easier to apply Grid C.2, but it is not
essential. Enter your mark.

Grid C.2 guidance

0-2 — Errors ([e.g.] endings, verb forms, gender of common nouns).
Frequent first [= other] language interference.

3—-4 — Errors ([e.g.] endings, verb forms, gender of common nouns, adjectival
agreements).
Candidate’s first [= other] language.
Meaning may be unclear; more wrong than right.

5-6 — Wrong/right = 50/50

7-8 — More right than wrong.

Grid F.2 guidance
5—-6 — [A range of] syntax and sentence structures appropriate to the [register of

the] task.
7-8 — Effective = good.
Reads easily.

9-10 — idiom # idioms.

26
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APPENDIX 1
RELEVANCE AND POINTS OF VIEW STRUCTURE AND ANALYSIS
GRIDN 10 marks AO2 GRID O 15 marks AO2
I I
Consistently relevant information that supports The response displays genuine cont_rol and c_I_arlty. A
. : . C e very well-developed argument. Confident ability to
9-10 points of view and opinions. Shows genuine insight 13-15
. . develop an argument, analyse and evaluate, and draw
in responding to the task. i
conclusions.
Relevant information that responds to the Coherently structured and organised response. Points
7_8 requirements of the task and is used to support 10-12 of view are linked in a logical sequence. Able to
points of view and opinions. Produces an imaginative develop an argument, analyse and evaluate, and
and/or original response to the task. draw conclusions.
The information given is mainly relevant to the task. Structured and organised response. Points of view are
Points of view and opinions are generally supported mostly linked in a logical sequence. Shows some
5-6 . 6-9 -
by some factual evidence. May demonstrate some ability to develop an argument, analyse and evaluate
originality and/or imagination. and draw conclusions.
Includes some relevant information but does not
always address the requirements of the task. May Shows some ability to structure and organise the
3-4 have some difficulty in expressing points of view 3-5 response. Limited ability to develop an argument,
and/or narrating events and/or communicating factual analyse and evaluate, and draw conclusions.
information.
The response to the task is likely to be very short Random organisation of the response. Limited
0-2 ; L 0-2 attempt to develop an argument, analyse and
and/or irrelevant and/or very superficial. .
evaluate, and draw conclusions.
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QUALITY OF LANGUAGE (ACCURACY) QUALITY OF LANGUAGE (RANGE)
GRID C.2 10 marks AO3 GRID F.2 10 marks AO3

Characterised by a high and consistent level of Effective and confident use of a wide range of

9-10 accuracy in use of complex structures, although there 9-10 vocabulary and idiom with a variety of complex
may be some errors. sentence structures.
Language generally accurate. Shows a sound grasp Effective use of a range of vocabulary and structures
of AS and/or A2 structures, as appropriate. Generally appropriate to the task, with little repetition. A positive

7-8 correct use of complex structures. Tenses and 7-8 attempt to introduce variety and to use a range of
agreements good, although there may be some complex sentence structures (though not always able
inconsistency and errors in more complex areas. to maintain correct usage).
Shows evidence of fair understanding of grammatical Attempts to extend the range of vocabulary,
usage. Generally accurate use of simple sentence though still rather repetitive. Attempts to use more

5-6 structures. Some correct use of complex sentence 5-6 complex language with some success in producing
structures. The performance is likely to be patchy and a range of syntax and sentence structures appropriate
inconsistent. to the task.
Evidence of gaps in basic grammar. Frequent errors
of an elementary kind (endings, verb forms, gender of Use of a restricted range of vocabulary and structures.

3-4 common nouns, adjectival agreements) but evidence 3-4 Frequent repetition of the same words and phrases.
of correct use of simple sentence structures. Some attempt (not necessarily successful) at the use
Vocabulary and structures may be quite strongly of more complex sentence structures.
influenced by the candidate’s first language.
Little evidence of grammatical awareness. Persistent,

0—2 serious and elementary errors (endings, verb forms, 0—2 Only simple sentence patterns. Very limited

gender of common nouns). Frequent first language
interference.

vocabulary. Very limited range of structures.
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APPENDIX 2

Transcripts of Listening Texts

Task 1: Listening

“Podcast about “Life goals for young people”

AHegell ASlAl Rl crd 53cl sl B ¥ AU AURL Wcotal RuilRd (8o aual HR
s2clls e WootHl AUsilaall AR 51R0L5 dAMoll Hcl Yol WEA 5 LA cdRe] Wclol
Yslot cdoRefl dlaul B ololl s wal AN Al elesta 3l ud. el Wdell 3 uRaurell
820920l ol Wl 5 cllotal B%AR tlold dlad & Al sleFsal cflel. Sl S\s2R olotal WD
8, dl adll dedis Wdlall uRcRell URURL starcdal dulHl ¥ AsRRHL HFucld B. Ud
£35al slaAH UsAl HOAl otel el Rl drd slRall AHA ULL S Ud B.

SARS WURL 3ecls wEA dal GaAl drd@sdiedll £2 sl ® wal 5l¢ 5QUR WU Aa
YRL 53 aAsdl otell Al Aesndloll AHa s US B, Al VA BN & »aUl Jeciseall
AUARD USSR AU B Al U5 ASloll AUARA d(Ysloll HEce{l BH 555011 USA 2l usal
8. vl AU el duld AR (ARl aa 8. AH 9dl B He20A Yot AUtz Al
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	Annotation 
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	Tick 

	Span

	 
	 
	 
	 
	InlineShape


	Development of point 
	Development of point 

	Span
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	incorrect 
	incorrect 

	Span
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	Irrelevant (material which doesn’t answer the question) 
	Irrelevant (material which doesn’t answer the question) 
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	Opinion 
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	Accurate language 

	Span

	 
	 
	 
	 
	InlineShape


	Inaccurate language 
	Inaccurate language 

	Span


	 
	Abbreviations 
	Abbreviations 
	Abbreviations 
	Abbreviations 

	Meaning 
	Meaning 


	/ 
	/ 
	/ 

	Alternative and acceptable answers for the same marking point 
	Alternative and acceptable answers for the same marking point 


	(  ) 
	(  ) 
	(  ) 

	Words which are not essential to gain the mark 
	Words which are not essential to gain the mark 


	__ 
	__ 
	__ 

	Underlined words must be included to gain the mark 
	Underlined words must be included to gain the mark 



	 
	 
	 
	 
	 
	 
	Subject-specific Marking Instructions 
	 
	You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the end of the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the marking process in order to spot excessive lifting in tasks 6 and 7. The texts will not appear automatically on your marking screen. 
	 
	Section A: Listening and Writing 
	  
	Task 1: “Life goals for young people”  
	 
	Task specific guidance: 
	 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 

	 For single mark questions no annotation is necessary just enter 1, 0 or NR.  
	 For single mark questions no annotation is necessary just enter 1, 0 or NR.  

	 There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark or when a word in the response invalidates an otherwise acceptable answer.  
	 There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark or when a word in the response invalidates an otherwise acceptable answer.  

	 You may also use the highlighter tool to show harmless additions. 
	 You may also use the highlighter tool to show harmless additions. 

	 Answers in Gujarati get no marks.  
	 Answers in Gujarati get no marks.  


	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[6] 

	Guidance 
	Guidance 

	Span

	 
	 
	 
	a 

	 
	 
	Accept any two 
	 
	- To give specific direction to our life . 
	 
	- Ambitions make our life meaningful / valuable/without ambitions , our life seem worthless.  
	 
	- To fulfil our own ambition / allow to choose own profession 
	 
	-fulfil others’ desires or wishes / feel the pressure to obey elders to join family business or Politics  
	 

	1 
	1 
	 
	1 
	 

	 
	 
	 
	 
	 
	 
	Accept: 
	To become what they want to be in life -doctors /engineers. 
	 
	They have to join family business / Politics etc because of family pressure. 

	Span


	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[6] 

	Guidance 
	Guidance 

	Span

	b 
	b 
	b 

	(i) Because they are away from reality / They do not always come true in real life / They are unrealistic goals  
	(i) Because they are away from reality / They do not always come true in real life / They are unrealistic goals  
	 
	(ii) They are impossible to fulfil/ achieve/ complete/ people would fail to fulfil.. 
	 

	 
	 
	 
	1 
	 
	 
	1 
	 

	 
	 

	Span

	c 
	c 
	c 
	 
	 
	d 

	A person experiences extreme frustration / becomes very depressed/ disappointed / sad/ have to face failure or defeat 
	A person experiences extreme frustration / becomes very depressed/ disappointed / sad/ have to face failure or defeat 
	 
	By not giving in to failure/ bouncing back / By not accepting defeat / by not giving up / become more persistent in achieving goals / setting up even higher goals 

	1 
	1 
	 
	 
	 
	1 

	 
	 

	Span


	 
	 
	Task 2: ગુજરાતની લોકસંસ્કૃતત  
	 
	Task specific guidance: 
	 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 

	 For single mark questions no annotation is necessary just enter 1, 0 or NR.  
	 For single mark questions no annotation is necessary just enter 1, 0 or NR.  

	 There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark or when a word in the response invalidates an otherwise acceptable answer.  
	 There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark or when a word in the response invalidates an otherwise acceptable answer.  

	 You may also use the highlighter tool to show harmless additions. 
	 You may also use the highlighter tool to show harmless additions. 


	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[22] 

	Guidance 
	Guidance 

	Span

	 
	 
	 
	(ક ) 
	 
	 
	 
	(ખ )  
	 
	 
	 
	 

	Accept any two 
	Accept any two 
	 - જ્યાં મયત્ર વૃદ્દ કે મોટી ઉંમરનય / ઘરડયાં લોકો જ જતયાં હો્. 
	-
	-
	જ્યાં ભયરતી્ વયદ્યો 
	/ 
	વયજજિંત્રો સયથે 
	કથય
	 
	/
	વયતયા કે ભજનો ગયતયાં હો્. 
	 

	-તે મયત્ર અભણ લોકો મયટે જ હો્ / ગયમડડ્ય લોકો મયટે જ હો્.  
	 
	Accept any two answers 
	-આપણે ગુજરયતીઓ કોણ છીએ તે વવશે આપણી સમજ જાળવી રયખવયમયાં મદદ મળશે.  
	-આપણી ગુજરયતીઓ / ગુજરયતી પ્રજા તરીકેની આગવી ઓળખ જાળવી શકયશે.  
	-
	-
	લોકો તેને સમજી શકશે તથય તેનો આનાંદ મયણી શકશે / લોકભોગ્્ બનશે.
	 

	-
	-
	ગયમડયાંઓ ઊંચય આવશે / વવકયસ થશે. 
	 


	 
	 
	1 
	 
	 
	1 
	 
	 
	 
	1 
	 
	1 
	 

	 
	 
	 
	Accept  
	તનરક્ષર / અતિતક્ષત લોકો / જેમને લખતાં વાંચતાં ન આવડતું હોય for illiterate   

	Span


	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[22] 

	Guidance 
	Guidance 

	Span

	(ગ) 
	(ગ) 
	(ગ) 
	 
	 
	 
	 
	 
	(ઘ) 
	 
	 
	(ચ) 
	 
	 
	 
	(છ) 
	 
	 
	 
	 
	 
	(જ) 
	 

	(i) જુદય જુદય પ્રદેશોની લોકબોલી / બોલચયલની / ઘરોમયાં વપરયતી /વયતચીતની ભયષય લોકસયડહત્્મયાં વપરયતી હો્ જે સયમયન્્ લોકોને ન સમજા્.  
	(i) જુદય જુદય પ્રદેશોની લોકબોલી / બોલચયલની / ઘરોમયાં વપરયતી /વયતચીતની ભયષય લોકસયડહત્્મયાં વપરયતી હો્ જે સયમયન્્ લોકોને ન સમજા્.  
	 
	(ii) પહેલયાંનય જમયનયમયાં છયપકયમની / પુસ્તકો છયપવયની સગવડ ન હતી કે અવયજને રેકોડા કરવય મયટેનય ્ાંત્રો / મશીનો ન હતયાં.  
	(iii) મોટય ભયગનુાં લોકસયડહત્્ મોઢે ્યદ રયખીને પછી રજૂ કરવયમયાં આવતુાં.  
	 
	તેમયાં (મયત્ર ભજનો નહીં પણ) વનસ્પવતઓ અને વૃક્ષો, પશુ
	તેમયાં (મયત્ર ભજનો નહીં પણ) વનસ્પવતઓ અને વૃક્ષો, પશુ
	-
	પક્ષીઓ તેમજ ઝરણયાંઓ, પવાતો જેવય વવષ્ોનો / પ્રકૃવતનયાં વવવધ રૂપોનો સમયવેશ થવય લયગ્્ો. 
	 

	 
	(i) પયરાંપયડરક રાંગબેરાંગી કપડયાં  
	(ii) બેનમૂન હસ્તકલય  
	(iii) ગુજરયતનય કુશળ કયરીગરો દ્વયરય તૈ્યર થતુાં રયચરચીલુાં  
	 
	(i) સુકેન દર વષે આવી કલયકયરીગરીની વસ્તુઓનો મોટો જથ્થો પરદેશમયાં વેચવય મોકલયવે છે / વનકયસ કરે છે.  
	(ii) તેમજ સ્થયવનક રોજગયરને વધયરવયમયાં મદદ કરે છે. / સ્થયવનક લોકો મયટે / કયમની તકો / નોકરી વધયરવયમયાં મદદ કરે છે. 
	 
	(i) સરકયર નયનય/ ગ્રયમ/ લઘુ કુડટર ઉદ્યોગોને આવથિક મદદ કરે છે.  
	(ii) કચ્છનય રણોત્સવ જેવય / સયાંસ્કૃવતક કય્ાક્રમોનુાં આ્ોજન કરે છે.  
	 

	1 
	1 
	 
	 
	1 
	 
	 
	1 
	 
	 
	1 
	 
	1 
	1 
	1 
	 
	1 
	 
	1 
	 
	 
	 
	1 
	1 
	 
	 


	 
	 
	 
	 
	 
	 
	 
	 
	 

	 

	Span


	Task 2: ગુજરાતની લોકસંસ્કૃતત Continue. 
	 
	(ઝ )  
	(ઝ )  
	(ઝ )  
	(ઝ )  

	Accept any three  
	Accept any three  
	-
	-
	(
	ભયરતમયાં લોકો
	)
	 
	ડેસ્સ્ટનેશન લગ્નો કરવય આવે છે. 
	 

	-જુવયવન્યઓ લગ્ન પ્રસાંગોમયાં લોક સાંગીતનય કલયકયરોનય કય્ાક્રમો રયખે છે / પસાંદ કરવય લયગ્્યાં છે.  
	-હયસ્્ કલયકયરોનય કય્ાક્રમો રયખે છે.  
	-
	-
	પયરાંપયડરક ગરબય
	-
	રયસ વધયરે પસાંદ કરવય લયગ્્ય છે. 
	 

	-
	-
	ભોજન સમયરાંભોમયાં યુવયનો હવે ગયમડયનુાં સયદુાં
	 
	/
	 
	સહેલયઈથી પચી જા્ 
	તેવુાં પણ સ્વયડદષ્ટ જમણ પસાંદ કરવય લયગ્્ય છે. 
	 


	 
	 
	1 
	 
	 
	 
	1 
	 
	 
	1 
	 
	 

	 
	 
	 

	Span

	(ટ )    
	(ટ )    
	(ટ )    

	Accept any one  
	Accept any one  
	-ભયરતી્ ચલચચત્રો / ચચત્રપટો / ડિલ્મોમયાં / ની કથયઓમયાં ગ્રયમ્્ પ્રસાંગોનો / ગયમડયાંની વયતોનો પણ સમયવેશ થય્ છે.  
	-
	-
	લોક કવવઓએ લખેલયાં તથય લોક કલયકયરોએ ગય્ેલયાં ગીતો અત્્ાંત 
	લોકવપ્ર્ બન્્ય
	 
	છે. 
	 


	 
	 
	1 
	 
	 
	 

	 
	 
	 


	Span

	(ઠ )  
	(ઠ )  
	(ઠ )  

	(i) સરકયર, વ્્યપયરીઓ તથય યુવયનો લોકસાંસ્કૃવતનુાં મહત્વ સમજી રહ્યાં છે. 
	(i) સરકયર, વ્્યપયરીઓ તથય યુવયનો લોકસાંસ્કૃવતનુાં મહત્વ સમજી રહ્યાં છે. 
	(ii) તેનય વવવવધ રૂપોને ગૌરવપૂવાક અપનયવી રહ્યાં છે.  
	(iii) પરદેશમયાં વસતય ગુજરયતીઓ પણ પોતયની લોકસાંસ્કૃવતમયાં રસ લઈ રહ્યાં છે.  
	 

	1 
	1 
	 
	1 
	 
	1 
	 
	 

	 
	 

	Span


	Task 2 cont...ગુજરાતની લોકસંસ્કૃતત  
	 
	QoL: Read response again and assess for language.  
	 
	  Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential.  
	  Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential.  
	  Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential.  


	 
	 Grid C.2:  Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. Identify the band which best matches the performance. If you identified the band without hesitation you must award the higher of the two marks.  
	 Grid C.2:  Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. Identify the band which best matches the performance. If you identified the band without hesitation you must award the higher of the two marks.  
	 Grid C.2:  Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. Identify the band which best matches the performance. If you identified the band without hesitation you must award the higher of the two marks.  


	 
	GRID C.2 
	GRID C.2 
	GRID C.2 
	GRID C.2 

	QUALITY OF LANGUAGE – ACCURACY 
	QUALITY OF LANGUAGE – ACCURACY 
	10 marks  AO3 

	Span

	9-10 
	9-10 
	9-10 

	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.  
	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.  

	Span

	7-8 
	7-8 
	7-8 

	Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.  
	Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.  

	Span

	5-6 
	5-6 
	5-6 

	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The performance is likely to be patchy and inconsistent. 
	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The performance is likely to be patchy and inconsistent. 

	Span

	3-4 
	3-4 
	3-4 

	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of simple sentence structures.  Vocabulary and structures may be quite strongly influenced by the candidate’s first language.  
	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of simple sentence structures.  Vocabulary and structures may be quite strongly influenced by the candidate’s first language.  

	Span

	0-2 
	0-2 
	0-2 

	Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns). Frequent first language interference. 
	Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns). Frequent first language interference. 

	Span


	 
	Section B: Reading and Writing 
	Section B: Reading and Writing 
	-
	 
	In Section B there
	 
	are 10 marks for Quality of Language.
	 

	 
	Task 3 કુદરતનાં રૂપો  
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[6] 

	Guidance 
	Guidance 

	Span

	ક 
	ક 
	ક 

	 
	 
	 
	૭
	  
	 


	1 
	1 

	 
	 
	Multi-choice  
	Marks entered individually. No need for annotation. Enter 1, 0 or NR as appropriate. 
	 

	Span

	ખ 
	ખ 
	ખ 

	 ૧   
	 ૧   

	1 
	1 

	Span

	ગ 
	ગ 
	ગ 

	 ૬   
	 ૬   

	1 
	1 

	Span

	ઘ 
	ઘ 
	ઘ 

	 ૩   
	 ૩   

	1 
	1 

	Span

	ચ 
	ચ 
	ચ 

	 ૨    
	 ૨    

	1 
	1 

	Span

	છ 
	છ 
	છ 

	 ૫    
	 ૫    

	1 
	1 

	Span


	 
	Task 4: કુદરતનાં રૂપો  
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[9] 

	Guidance 
	Guidance 

	Span

	ક 
	ક 
	ક 

	સજેલયાં 
	સજેલયાં 
	સજેલયાં 
	 


	1 
	1 

	1 mark for each correct answer 
	1 mark for each correct answer 
	 
	The marks are awarded individually. No annotations are necessary. 

	Span

	ખ 
	ખ 
	ખ 

	તયકયતનુાં પ્રદશાન   
	તયકયતનુાં પ્રદશાન   

	1 
	1 

	Span

	ગ 
	ગ 
	ગ 

	અહાં  
	અહાં  

	1 
	1 

	Span

	ઘ 
	ઘ 
	ઘ 

	ઇજારયશયહી 
	ઇજારયશયહી 
	ઇજારયશયહી 
	 


	1 
	1 

	Span

	ચ 
	ચ 
	ચ 

	ઇચ્છયપૂવતિ  
	ઇચ્છયપૂવતિ  

	1 
	1 

	Span

	છ 
	છ 
	છ 

	રમણી્   
	રમણી્   

	1 
	1 

	Span

	જ 
	જ 
	જ 

	કચ્ચરઘયણ વયળવો  
	કચ્ચરઘયણ વયળવો  

	1 
	1 

	Span

	ઝ 
	ઝ 
	ઝ 

	સહઅસ્સ્તત્વ
	સહઅસ્સ્તત્વ
	સહઅસ્સ્તત્વ
	 
	 


	1 
	1 

	Span

	ટ 
	ટ 
	ટ 

	ભોગવવુાં  
	ભોગવવુાં  

	1 
	1 

	Span


	Task 5: 
	Task 5: 
	કુદરતનાં રૂપો 
	 

	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks [5] 
	Marks [5] 

	Guidance 
	Guidance 

	Span

	૧ 
	૧ 
	૧ 

	ઘટી રહી / ઓછી થઈ રહી / મયાં ઘટયડો થઈ રહ્ો 
	ઘટી રહી / ઓછી થઈ રહી / મયાં ઘટયડો થઈ રહ્ો 

	1 
	1 

	 
	 
	Gap-fill 
	No annotation is necessary. Enter 1, 0 or NR as appropriate. Ignore mis-spellings. 

	Span

	૨ 
	૨ 
	૨ 

	મોભો / પ્રવતષ્ઠય / મયન 
	મોભો / પ્રવતષ્ઠય / મયન 

	1 
	1 

	Span

	૩ 
	૩ 
	૩ 

	મયરી નયખવયમયાં / હણવયમયાં  
	મયરી નયખવયમયાં / હણવયમયાં  

	1 
	1 

	Span

	૪ 
	૪ 
	૪ 

	અખતરયઓનો / પ્ર્ોગોનો  
	અખતરયઓનો / પ્ર્ોગોનો  

	1 
	1 

	Span

	૫ 
	૫ 
	૫ 

	ઝાંટવી લીધય / લઈ લીધય / આંચકી લીધય / પડયવી લીધયાં/ ખૂાંચવી લીધયાં   
	ઝાંટવી લીધય / લઈ લીધય / આંચકી લીધય / પડયવી લીધયાં/ ખૂાંચવી લીધયાં   

	1 
	1 

	Span


	 
	 
	Task 6: 
	Task 6: 
	કુદરતનાં રૂપો 
	 

	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks [5] 
	Marks [5] 

	Guidance 
	Guidance 

	Span

	ક 
	ક 
	ક 

	જમીનમયાં ખોદકયમ કયુું.  
	જમીનમયાં ખોદકયમ કયુું.  

	1 
	1 

	Sentence Completion 
	Sentence Completion 
	Marks entered individually. No need for annotation. Enter 1, 0 or NR as appropriate. 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Span

	ખ 
	ખ 
	ખ 

	બગડી ગયુાં / ખરયબ થઈ ગયુાં  / ઝેરી બની ગયુાં/ પ્રદૂવષત બની ગયુાં, 
	બગડી ગયુાં / ખરયબ થઈ ગયુાં  / ઝેરી બની ગયુાં/ પ્રદૂવષત બની ગયુાં, 

	1 
	1 

	Span

	ગ 
	ગ 
	ગ 

	તયપમયન / ઉષ્ણતયમયન / ગરમીનુાં પ્રમયણ  
	તયપમયન / ઉષ્ણતયમયન / ગરમીનુાં પ્રમયણ  

	1 
	1 

	Span

	ઘ 
	ઘ 
	ઘ 

	ઘટી જવયની / ઓછી થઈ જવયની / સૂકયઈ જવયની /ખૂટી જવયની/જથ્થો વપરયઈ / ખલયસ થઈ જવયની  
	ઘટી જવયની / ઓછી થઈ જવયની / સૂકયઈ જવયની /ખૂટી જવયની/જથ્થો વપરયઈ / ખલયસ થઈ જવયની  

	1 
	1 

	Span

	ચ 
	ચ 
	ચ 

	વયરાંવયર ઉપ્ોગ કરી શકય્ / િરીથી વયપરી કે ઉત્પન્ન કરી શકય્ તેવય / ખલયસ ન થય્ તેવય ઊજાા સ્તોત્રો / સૂ્ા
	વયરાંવયર ઉપ્ોગ કરી શકય્ / િરીથી વયપરી કે ઉત્પન્ન કરી શકય્ તેવય / ખલયસ ન થય્ તેવય ઊજાા સ્તોત્રો / સૂ્ા
	વયરાંવયર ઉપ્ોગ કરી શકય્ / િરીથી વયપરી કે ઉત્પન્ન કરી શકય્ તેવય / ખલયસ ન થય્ તેવય ઊજાા સ્તોત્રો / સૂ્ા
	,
	પવન
	,
	જળ
	 
	સ્તોત્રો
	 


	1 
	1 

	Span


	 
	 
	Task 7: કુદરતનાં રૂપો  
	 
	Task specific guidance 
	 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).  
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).  
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).  


	 
	 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear on the screen. 
	 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear on the screen. 
	 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear on the screen. 


	 
	 Go through all the responses and assess every question for comprehension.   
	 Go through all the responses and assess every question for comprehension.   
	 Go through all the responses and assess every question for comprehension.   


	 
	a. Marks are awarded on a point by point basis, according to the mark scheme.  
	a. Marks are awarded on a point by point basis, according to the mark scheme.  
	a. Marks are awarded on a point by point basis, according to the mark scheme.  

	b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL 
	b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL 

	c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with single words / short phrases. 
	c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with single words / short phrases. 

	 Annotations:    
	 Annotations:    

	 Award 1, 0 or NR without annotation.  
	 Award 1, 0 or NR without annotation.  

	 Use a tick () to indicate a mark awarded on any question where the answer is more than one mark.     
	 Use a tick () to indicate a mark awarded on any question where the answer is more than one mark.     

	 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 
	 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 


	 
	 Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude from Quality of Language assessment.  
	 Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude from Quality of Language assessment.  
	 Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude from Quality of Language assessment.  


	Task 7: માલલક કે માળી  
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[10] 

	Guidance 
	Guidance 

	Span

	ક 
	ક 
	ક 
	 
	 

	(i) પયણીનુાં પ્રદૂષણ  
	(i) પયણીનુાં પ્રદૂષણ  
	(ii) Accept any three answers 
	-જળચર જીવોનો / સમુદ્રનય જીવો / દડર્યઈ જીવો / મયછલીઓનો નયશ થવયથી મત્સ્્ ઉદ્યોગથી પર અસર/આવક પર અસર થય્ છે / આવક ઘટે છે.  
	-પયણી [મનુષ્્ો / ઢોર / જાનવરો/ પશુઓ મયટે] પીવયલય્ક રહેતુાં  
	 નથી. 
	-
	-
	પયણી ખેતીલય્ક રહેતુાં નથી.
	 
	/ 
	અનયજ ઉગયડવય મયટે કયમ નથી 
	લયગતુાં. 
	 

	-
	-
	પયણીથી થતયાં રોગો / બીમયરીઓ થય્ છે. 
	 


	1 
	1 
	 
	 
	 
	 
	1 
	 
	 
	 
	1 
	 
	1 
	 

	Accept “ 
	Accept “ 
	Accept “ 
	દૂવષત થતયાં પયણીની સમસ્્ય
	 
	” for water pollution
	 

	Do not accept just “ પ્રદૂષણ” 
	 
	 
	 
	 


	Span

	ખ  
	ખ  
	ખ  

	-
	-
	-
	જળ દ્વયરય તમયમ જીવોનુાં પોષણ કરે છે. / દરેકને તેમયાંથી પીવયનુાં પયણી મળે છે/જીવન મયટે જરૂરી જળ પૂરુાં પયડે છે. 
	 

	-
	-
	જ્યાંથી જગતની અનેક મહયન સાંસ્કૃવતઓની શરૂઆત થઈ
	 


	1 
	1 
	 
	1 
	 

	 
	 

	Span

	ગ  
	ગ  
	ગ  

	Accept any three answers  
	Accept any three answers  
	-
	-
	લોકો ગાંગય નદીનય કયાંઠે / ડકનયરે (અનેક પ્રકયરની ધયવમિક વવવધઓ /પૂજાઓ કરી તેનો) કચરો નદીમયાં િેંકે છે. 
	 

	-
	-
	લોકો તથય પશુઓ તેમયાં સ્નયન કરે છે.
	 

	-
	-
	લોકો ગાંગય નદીનય ડકનયરે કપડયાં ધો્ છે
	 
	/ 
	ધુએ છે / સયિ કરે છે.
	 
	 

	-
	-
	કયરખયનયાંઓમયાંથી કચરો ગાંગય નદીનય પયણીમયાં િેંકવયમયાં આવે છે. 
	 

	-
	-
	ગાંગય નદીમયાં જળચરો નયશ પયમી રહ્યાં છે/મયછલીઓ નયશ પયમે છે. 
	 


	 
	 
	 
	1 
	 
	1 
	1 
	 
	 
	 

	 
	 

	Span


	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[10] 

	Guidance 
	Guidance 

	Span

	ઘ 
	ઘ 
	ઘ 
	 
	 

	વવશ્વમયાં દરેક જીવોનય એકબીજા સયથેનય તેમજ આસપયસની પડરસ્સ્થવત સયથેનય સાંબાંધોમયાં સાંતુલન જાળવવય મયટે /જીવન બચયવવય મયટે  
	વવશ્વમયાં દરેક જીવોનય એકબીજા સયથેનય તેમજ આસપયસની પડરસ્સ્થવત સયથેનય સાંબાંધોમયાં સાંતુલન જાળવવય મયટે /જીવન બચયવવય મયટે  
	વવશ્વમયાં દરેક જીવોનય એકબીજા સયથેનય તેમજ આસપયસની પડરસ્સ્થવત સયથેનય સાંબાંધોમયાં સાંતુલન જાળવવય મયટે /જીવન બચયવવય મયટે  
	 


	1 
	1 
	 

	 
	 
	 

	Span

	 
	 
	 

	 
	 

	 
	 

	 
	 

	Span


	 
	Task 8: ડી.એન.એ. ફ િંગર ફિફ્ટિંગ   
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 

	Guidance 
	Guidance 

	Span

	 
	 
	 

	Translation into English  
	Translation into English  

	[10] 
	[10] 

	Content 
	Content 

	Levels of response 
	Levels of response 

	Span

	1 
	1 
	1 
	 
	2 
	 
	3 
	 
	4 
	 
	5 
	 
	6 
	 
	7 
	 
	 
	8 
	 
	9 
	 
	10 
	 

	To explore the mysteries 
	To explore the mysteries 
	 
	 
	of the universe,  
	 
	 
	humans made good use of their thinking power 
	 
	to do various inventions. 
	 
	Over the time, human needs changed.  
	 
	 
	Therefore new scientific research took place. 
	 
	On that basis, technology has also taken a very big leap / developed massively.  
	 
	In this way, human needs 
	 
	 
	have become the mother  
	 
	 
	of all inventions. 
	 

	1 
	1 
	 
	1 
	 
	1 
	 
	1 
	 
	1 
	 
	1 
	 
	1 
	 
	 
	1 
	 
	1 
	 
	1 

	Award two marks per translated section according to the grid below. This grid assesses Transfer of Meaning into English. Note that this grid integrates Quality of Written Communication Strand (i) descriptors.  
	Award two marks per translated section according to the grid below. This grid assesses Transfer of Meaning into English. Note that this grid integrates Quality of Written Communication Strand (i) descriptors.  
	 
	Exceptional responses and marks to award: 
	 
	1. Candidates may answer in faultless English but may not transfer meaning accurately. Award either 0 or 1 mark, depending on level of inaccuracy in meaning.  
	1. Candidates may answer in faultless English but may not transfer meaning accurately. Award either 0 or 1 mark, depending on level of inaccuracy in meaning.  
	1. Candidates may answer in faultless English but may not transfer meaning accurately. Award either 0 or 1 mark, depending on level of inaccuracy in meaning.  

	2. The transfer of meaning is accurate but contains significant spelling and/or grammar errors. Award 0 or 1 mark, depending on level of inaccuracy of English. 
	2. The transfer of meaning is accurate but contains significant spelling and/or grammar errors. Award 0 or 1 mark, depending on level of inaccuracy of English. 



	GRID H.2  
	GRID H.2  
	TRANSFER OF MEANING 
	2 
	Accurate transfer of meaning. Faultless or virtually faultless grammar, punctuation and spelling in English. 
	 
	1 
	Inconsistent transfer of meaning. Mostly accurate but there are errors and/or missed details. There are instances of error in grammar, punctuation and spelling in English. 
	 
	0 
	Very limited transfer of meaning. A substantial number of elements misunderstood or missing. Significant error in grammar, punctuation and spelling in English. 
	 
	 

	Span


	 
	 Task 9: Question         ડી.એન.એ. ફ િંગર તિન્ટિંગ   
	 
	 
	 
	 
	 

	Answer 
	Answer 

	Marks[6] 
	Marks[6] 

	Guidance 
	Guidance 

	Span

	ક 
	ક 
	ક 

	સાંશોધન  
	સાંશોધન  
	 
	 


	1 
	1 

	 
	 
	 
	Sentence Completion 
	Marks entered individually. No need for annotation. Enter 1, 0 or NR as appropriate. 

	Span

	ખ 
	ખ 
	ખ 

	 લયલચ / ઇચ્છય / લોલુપતય  / ભૂખ /લયલસય 
	 લયલચ / ઇચ્છય / લોલુપતય  / ભૂખ /લયલસય 
	 

	1 
	1 

	Span

	ગ 
	ગ 
	ગ 

	અંતર વધી /સાંતુલન ખોરવયઈ ગયુાં / િરકનુાં/તિયવતનુાં/અસમયનતયનુાં પ્રમયણ વધી ગયુાં છે.  
	અંતર વધી /સાંતુલન ખોરવયઈ ગયુાં / િરકનુાં/તિયવતનુાં/અસમયનતયનુાં પ્રમયણ વધી ગયુાં છે.  
	 

	1 
	1 

	Span

	ઘ 
	ઘ 
	ઘ 

	દોષ વવનયનયાં/ વનરપરયધ /  ગુનેગયર ન હો્ તે/ વનદોષ  
	દોષ વવનયનયાં/ વનરપરયધ /  ગુનેગયર ન હો્ તે/ વનદોષ  
	 

	1 
	1 

	Span

	ચ 
	ચ 
	ચ 

	સહન કરવુાં / ખમવુાં / સહેવુાં /ભોગવવુાં /સજાનય ભયગીદયર  
	સહન કરવુાં / ખમવુાં / સહેવુાં /ભોગવવુાં /સજાનય ભયગીદયર  
	 

	1 
	1 

	Span

	છ 
	છ 
	છ 

	મદદરૂપ / સહય્ક / સહય્કયરક/ મદદકતયા / ઉપ્ોગી/ મદદગયર 
	મદદરૂપ / સહય્ક / સહય્કયરક/ મદદકતયા / ઉપ્ોગી/ મદદગયર 
	 

	1 
	1 

	Span


	 
	 
	 
	 
	Task 10:        ડી.એન.એ. ફ િંગર તિન્ટિંગ   
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks [6] 
	Marks [6] 

	Guidance 
	Guidance 

	Span

	ક
	ક
	ક
	ક
	 


	વ્્સ્તતને તેનય જન્મ સયથે / પેદય થતયાં જે વાંશપરાંપરયગત લક્ષણો મળે છે તે વવશેની મયડહતી  
	વ્્સ્તતને તેનય જન્મ સયથે / પેદય થતયાં જે વાંશપરાંપરયગત લક્ષણો મળે છે તે વવશેની મયડહતી  
	 

	1 
	1 

	Do not accept ” ્ોગ્્ મયડહતી “ 
	Do not accept ” ્ોગ્્ મયડહતી “ 
	 
	 
	Do not accept “
	Do not accept “
	 
	સમય્ેલી
	 
	“
	 


	Span

	ખ 
	ખ 
	ખ 

	સાંગ્રહ કરેલી  / એકઠી કરેલી  
	સાંગ્રહ કરેલી  / એકઠી કરેલી  
	 

	1 
	1 

	Span

	ગ 
	ગ 
	ગ 

	મયત્ર પોતયનય મયટેનયાં / દરેકથી અલગ / પોતીકયાં / અલય્દયાં /જુદયાં 
	મયત્ર પોતયનય મયટેનયાં / દરેકથી અલગ / પોતીકયાં / અલય્દયાં /જુદયાં 
	 

	1 
	1 

	Span

	ઘ 
	ઘ 
	ઘ 

	કોઈ સ્થયને ન થોભવુાં અને કય્ા ચયલુ રયખવુાં. / ઊભય ન રહેવુાં પણ ગવત કે પ્રવૃવત ચયલુ રયખવી. 
	કોઈ સ્થયને ન થોભવુાં અને કય્ા ચયલુ રયખવુાં. / ઊભય ન રહેવુાં પણ ગવત કે પ્રવૃવત ચયલુ રયખવી. 
	P
	Span
	કોઈ કય્ા બાંધ
	 
	ન કરવુાં પણ તે આગળ વધયરવુાં 
	/કય્ા સતત ચયલુ રયખવુાં/ વપરયશ સતત ચયલુ 
	રયખવો 
	-
	બાંધ ન કરવો.
	 

	 

	1 
	1 

	Span

	ચ 
	ચ 
	ચ 

	ગોઠવણ / રચનય / મયળખુાં / ઘડતર /બયાંધવયની રીત 
	ગોઠવણ / રચનય / મયળખુાં / ઘડતર /બયાંધવયની રીત 
	 

	1 
	1 

	Span

	છ 
	છ 
	છ 

	અસર છોડવી / વનશયની પયછળ મૂકી જવી / પ્રભયવ પયડવો. 
	અસર છોડવી / વનશયની પયછળ મૂકી જવી / પ્રભયવ પયડવો. 
	 

	1 
	1 

	Span


	Task 11: ડી.એન.એ. ફ િંગર ફિફ્ટિંગ   
	 
	Task specific guidance 
	 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).  
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).  
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate).  


	 
	 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear on the screen. 
	 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear on the screen. 
	 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear on the screen. 


	 
	 Go through all the responses and assess every question for comprehension.   
	 Go through all the responses and assess every question for comprehension.   
	 Go through all the responses and assess every question for comprehension.   


	 
	d. Marks are awarded on a point by point basis, according to the mark scheme.  
	d. Marks are awarded on a point by point basis, according to the mark scheme.  
	d. Marks are awarded on a point by point basis, according to the mark scheme.  

	e. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL 
	e. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL 

	f.  For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with single words / short phrases. 
	f.  For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with single words / short phrases. 

	 Annotations:    
	 Annotations:    

	 Award 1, 0 or NR without annotation.  
	 Award 1, 0 or NR without annotation.  

	 Use a tick () to indicate a mark awarded on any question where the answer is more than one mark.     
	 Use a tick () to indicate a mark awarded on any question where the answer is more than one mark.     

	 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 
	 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 

	 Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude from Quality of Language assessment.  
	 Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude from Quality of Language assessment.  


	Task 11 ડી.એન.એ. ફ િંગર તિન્ટિંગ   
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks[10] 
	Marks[10] 

	Guidance 
	Guidance 

	Span

	ક 
	ક 
	ક 

	ગુનેગયરોએ જે જગ્્યએ ગુનો ક્ો હો્ તે જગ્્યએ હાંમેશયાં પોતયની કોઈ છયપ / વનશયની / વસ્તુ જરૂર છોડતય જા્ છે.   
	ગુનેગયરોએ જે જગ્્યએ ગુનો ક્ો હો્ તે જગ્્યએ હાંમેશયાં પોતયની કોઈ છયપ / વનશયની / વસ્તુ જરૂર છોડતય જા્ છે.   
	 

	1 
	1 
	 
	 

	 
	 

	Span

	ખ 
	ખ 
	ખ 

	(i)  જ્યાં ગુનો કરવયમયાં આવ્્ો હો્ તે જગ્્યએથી ગુનેગયરનયાં ડી.એન.એ. મેળવવયમયાં આવે છે.  
	(i)  જ્યાં ગુનો કરવયમયાં આવ્્ો હો્ તે જગ્્યએથી ગુનેગયરનયાં ડી.એન.એ. મેળવવયમયાં આવે છે.  
	 
	(ii) તેની સરખયમણી બીજા લોકોનય ડી.એન.એ. સયથે કરવયમયાં આવે છે. 
	 

	1 
	1 
	 
	 
	1 

	 
	 

	Span

	 
	 
	 
	ગ 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	(i)પોચલસખયતયાંઓ ગુનેગયરોની આનુવાંવશક મયડહતીઓનો / ડી.એન.એ.નો સાંગ્રહ રયખે છે./ ગુનેગયરોને સહેલયઈથી ઓળખી શકય્ છે. 
	 
	(ii)ગુનો કરીને બીજા દેશમયાં નયસી છૂટેલય/ ભયગી ગ્ેલય/ પલય્ન થ્ેલય ગુનેગયરને પકડવય મયટે પોચલસખયતયાંઓ તે રયષ્રોની સયથે મળીને / સાંયુતત રીતે કયમ કરે છે.  
	 
	 
	 

	 
	 
	1 
	 
	 
	 
	1 
	 
	 

	 
	 

	Span


	Task 11 ડી.એન.એ. ફ િંગર ફિફ્ટિંગ (DNA  Fingerprinting)  Continue 
	 
	 
	 
	 
	 
	ઘ 
	 
	 
	 
	 
	 

	 
	 
	Accept any three answers  
	-
	-
	 ન્્ય્યલ્ોમયાં / અદયલતોમયાં / કોટામયાં લયાંબય સમ્ સુધી સ્થળયાંતરનયાં ખટલયઓ / િડર્યદો / બનયવોનો વનવેડો નથી આવતો. 
	 

	 
	-
	-
	પૂરતયાં / ્ોગ્્ કયગળો વગર લોકોની સયચી ઓળખ સયચબત નથી થઈ શકતી / તકલીિ પડે છે. 
	 

	 
	-
	-
	લોકો બનયવટી કયગળો / ખોટય પયસપોટા સયથે બીજા દેશોમયાં જા્ છે.
	 
	 

	 
	-
	-
	ગુનેગયરો લોકોને ગેરકય્દેસર રીતે / છૂપી રીતે 
	/
	 
	જબરજસ્તીથી 
	બીજા કોઈ દેશોમયાં ઘુસયડે છે. 
	 

	 
	 

	 
	 
	 
	1 
	 
	 
	 
	1 
	 
	 
	 
	1 
	 
	 


	 
	 

	Span

	ચ 
	ચ 
	ચ 
	 
	 
	 
	 
	 
	 
	 
	 
	 


	Accept Any Two 
	Accept Any Two 
	-
	-
	વવજ્ઞયનને કયરણે આપણને ગુનયઓથી બચવયમયાં મદદ મળે છે / રક્ષણ મળે છે.
	 
	/ તે જીવન બચયવી શકે છે
	.
	 

	- સયચો / સમજદયરીપૂવાક ઉપ્ોગ કરવયથી રક્ષક બને છે  
	 
	-
	-
	તેનો ખોટો કે અ્ોગ્્ ઉપ્ોગ / દુરુપ્ોગ કરવયથી / ઉપ્ોગ કરવયમયાં સયવધયની ન રયખવયથી આપણને નુકસયન / હયવન પણ થઈ શકે છે
	 
	/
	 
	ભક્ષક
	 
	બને છે
	.
	 
	 
	 


	1 
	1 
	 
	 
	 
	1 
	 
	 
	 

	 
	 
	 
	Do not accept the words રક્ષક અને ભક્ષક if reason is not given such as સયચો ઉપ્ોગ or ખોટો ઉપ્ોગ  

	Span


	 
	Task 11 ડી.એન.એ. ફ િંગર તિન્ટિંગ   
	 
	 Assessing Quality of Language across Section B 
	 Assessing Quality of Language across Section B 
	 Assessing Quality of Language across Section B 


	 
	a.  You will get a separate screen which will be the whole page for exercise, 5, 6, 7, 9, 10 and 11 (unannotated).  Read all the answers again.  You may use the green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential. 
	a.  You will get a separate screen which will be the whole page for exercise, 5, 6, 7, 9, 10 and 11 (unannotated).  Read all the answers again.  You may use the green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential. 
	a.  You will get a separate screen which will be the whole page for exercise, 5, 6, 7, 9, 10 and 11 (unannotated).  Read all the answers again.  You may use the green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential. 
	a.  You will get a separate screen which will be the whole page for exercise, 5, 6, 7, 9, 10 and 11 (unannotated).  Read all the answers again.  You may use the green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential. 

	b.  Apply Grid C.2 and enter the mark. 
	b.  Apply Grid C.2 and enter the mark. 

	c.  PE to provide specific guidance on which exercises in Section B will provide best evidence for Quality of Language. 
	c.  PE to provide specific guidance on which exercises in Section B will provide best evidence for Quality of Language. 



	 
	GRID C.2 
	GRID C.2 
	GRID C.2 
	GRID C.2 

	QUALITY OF LANGUAGE – ACCURACY 
	QUALITY OF LANGUAGE – ACCURACY 
	10 marks  AO3 

	Span

	9-10 
	9-10 
	9-10 

	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.  
	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.  

	Span

	7-8 
	7-8 
	7-8 

	Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.  
	Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.  

	Span

	5-6 
	5-6 
	5-6 

	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The performance is likely to be patchy and inconsistent. 
	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The performance is likely to be patchy and inconsistent. 

	Span

	3-4 
	3-4 
	3-4 

	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of simple sentence structures.  Vocabulary and structures may be quite strongly influenced by the candidate’s first language.  
	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of simple sentence structures.  Vocabulary and structures may be quite strongly influenced by the candidate’s first language.  

	Span

	0-2 
	0-2 
	0-2 

	Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns). Frequent first language interference. 
	Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns). Frequent first language interference. 

	Span


	 
	Section C: Writing 
	 
	Task 12-19 
	 
	Task specific guidance 
	 
	Mark one essay using the grids N, O, C.2 and F.2.  
	 
	If a candidate has written more than one essay mark both essays in the normal way but enter the mark for the essay which has earned most marks over all.  
	 
	Question 
	Question 
	Question 
	Question 

	Indicative Content 
	Indicative Content 

	Marks 
	Marks 

	Guidance 
	Guidance 

	Span

	Task 12-19 
	Task 12-19 
	Task 12-19 

	No Indicative Content – personal response 
	No Indicative Content – personal response 
	 
	 

	[25] 
	[25] 

	Grid N guidance 
	Grid N guidance 
	 
	3–4 – No specific example from TL = cap 4 
	 
	5–6 – Demonstration of originality and/or imagination – applies mainly to imaginative 
	 
	7–8 – Imaginative and/or original response to task – applies mainly to imaginative 
	 
	Grid O guidance 
	 
	6–9 – Straight narration = more 6/7 
	 
	Evidence of some argument = more 8/9 
	 

	Span


	 
	 
	 
	 
	 
	 
	 
	 
	 
	Task 12-19 – Language (QOL) – Grids C.2 and F.2:  [20 marks] 
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 

	Guidance 
	Guidance 

	Span

	Task 12-19 
	Task 12-19 
	Task 12-19 

	Assess for Quality of Language using Grids C.2 and F.2 
	Assess for Quality of Language using Grids C.2 and F.2 
	Appendix 1 
	 
	 

	[20] 
	[20] 

	Read the whole response again and assess for Range (Grid F.2) first – i.e. vocabulary and structures. Then assess for Accuracy (Grid C.2). Key words have been highlighted in the grids below. Ignore final sentence of 3-4 band in Grid C.2, because vocabulary and structures have already been assessed under Grid F.2. If you wish, you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential. Enter your mark. 
	Read the whole response again and assess for Range (Grid F.2) first – i.e. vocabulary and structures. Then assess for Accuracy (Grid C.2). Key words have been highlighted in the grids below. Ignore final sentence of 3-4 band in Grid C.2, because vocabulary and structures have already been assessed under Grid F.2. If you wish, you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential. Enter your mark. 
	 
	Grid C.2 guidance 
	0–2 – Errors ([e.g.] endings, verb forms, gender of common nouns).  
	          Frequent first [= other] language interference. 
	3–4 – Errors ([e.g.] endings, verb forms, gender of common nouns, adjectival              agreements). 
	          Candidate’s first [= other] language. 
	          Meaning may be unclear; more wrong than right. 
	5–6 – Wrong/right = 50/50 
	7–8 – More right than wrong. 
	 
	Grid F.2 guidance 
	5–6 – [A range of] syntax and sentence structures appropriate to the [register of the] task. 
	7–8 – Effective = good. 
	          Reads easily. 
	9–10 – idiom ≠ idioms. 

	Span


	 
	 
	 
	 

	APPENDIX 1 
	GRID N           
	GRID N           
	GRID N           
	GRID N           

	RELEVANCE AND POINTS OF VIEW 
	RELEVANCE AND POINTS OF VIEW 
	10 marks AO2 

	 
	 

	GRID O 
	GRID O 

	STRUCTURE AND ANALYSIS   
	STRUCTURE AND ANALYSIS   
	15 marks AO2 

	Span

	 
	 
	 

	 
	 

	 
	 

	 
	 

	 
	 

	 
	 

	 
	 

	Span

	9–10 
	9–10 
	9–10 

	Consistently relevant information that supports points of view and opinions. Shows genuine insight in responding to the task.  
	Consistently relevant information that supports points of view and opinions. Shows genuine insight in responding to the task.  

	 
	 

	13–15 
	13–15 

	The response displays genuine control and clarity. A very well-developed argument. Confident ability to develop an argument, analyse and evaluate, and draw conclusions.  
	The response displays genuine control and clarity. A very well-developed argument. Confident ability to develop an argument, analyse and evaluate, and draw conclusions.  

	Span

	7–8 
	7–8 
	7–8 

	Relevant information that responds to the requirements of the task and is used to support points of view and opinions. Produces an imaginative and/or original response to the task. 
	Relevant information that responds to the requirements of the task and is used to support points of view and opinions. Produces an imaginative and/or original response to the task. 

	 
	 

	10–12 
	10–12 

	Coherently structured and organised response. Points of view are linked in a logical sequence. Able to develop an argument, analyse and evaluate, and draw conclusions.  
	Coherently structured and organised response. Points of view are linked in a logical sequence. Able to develop an argument, analyse and evaluate, and draw conclusions.  

	Span

	5–6 
	5–6 
	5–6 

	The information given is mainly relevant to the task. Points of view and opinions are generally supported by some factual evidence. May demonstrate some originality and/or imagination. 
	The information given is mainly relevant to the task. Points of view and opinions are generally supported by some factual evidence. May demonstrate some originality and/or imagination. 

	 
	 

	6–9 
	6–9 

	Structured and organised response. Points of view are mostly linked in a logical sequence. Shows some ability to develop an argument, analyse and evaluate and draw conclusions.  
	Structured and organised response. Points of view are mostly linked in a logical sequence. Shows some ability to develop an argument, analyse and evaluate and draw conclusions.  

	Span

	3–4 
	3–4 
	3–4 

	Includes some relevant information but does not always address the requirements of the task. May have some difficulty in expressing points of view and/or narrating events and/or communicating factual information. 
	Includes some relevant information but does not always address the requirements of the task. May have some difficulty in expressing points of view and/or narrating events and/or communicating factual information. 

	 
	 

	3–5 
	3–5 

	Shows some ability to structure and organise the response. Limited ability to develop an argument, analyse and evaluate, and draw conclusions.  
	Shows some ability to structure and organise the response. Limited ability to develop an argument, analyse and evaluate, and draw conclusions.  

	Span

	0–2 
	0–2 
	0–2 

	The response to the task is likely to be very short and/or irrelevant and/or very superficial. 
	The response to the task is likely to be very short and/or irrelevant and/or very superficial. 

	 
	 

	0–2 
	0–2 

	Random organisation of the response. Limited attempt to develop an argument, analyse and evaluate, and draw conclusions. 
	Random organisation of the response. Limited attempt to develop an argument, analyse and evaluate, and draw conclusions. 

	Span


	 
	 
	GRID C.2          
	GRID C.2          
	GRID C.2          
	GRID C.2          

	QUALITY OF LANGUAGE (ACCURACY)     
	QUALITY OF LANGUAGE (ACCURACY)     
	 10 marks AO3 

	 
	 

	GRID F.2 
	GRID F.2 

	QUALITY OF LANGUAGE (RANGE)                   
	QUALITY OF LANGUAGE (RANGE)                   
	10 marks AO3 

	Span

	9–10 
	9–10 
	9–10 

	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors. 
	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors. 

	 
	 

	9–10 
	9–10 

	Effective and confident use of a wide range of vocabulary and idiom with a variety of complex sentence structures. 
	Effective and confident use of a wide range of vocabulary and idiom with a variety of complex sentence structures. 

	Span

	7–8 
	7–8 
	7–8 

	Language generally accurate. Shows a sound grasp of AS and/or A2 structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas. 
	Language generally accurate. Shows a sound grasp of AS and/or A2 structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas. 

	 
	 

	7–8 
	7–8 

	Effective use of a range of vocabulary and structures appropriate to the task, with little repetition. A positive attempt to introduce variety and to use a range of complex sentence structures (though not always able to maintain correct usage). 
	Effective use of a range of vocabulary and structures appropriate to the task, with little repetition. A positive attempt to introduce variety and to use a range of complex sentence structures (though not always able to maintain correct usage). 

	Span

	5–6 
	5–6 
	5–6 

	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The performance is likely to be patchy and inconsistent. 
	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The performance is likely to be patchy and inconsistent. 

	 
	 

	5–6 
	5–6 

	Attempts to extend the range of vocabulary, though still rather repetitive. Attempts to use more complex language with some success in producing a range of syntax and sentence structures appropriate to the task. 
	Attempts to extend the range of vocabulary, though still rather repetitive. Attempts to use more complex language with some success in producing a range of syntax and sentence structures appropriate to the task. 

	Span

	3–4 
	3–4 
	3–4 

	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced by the candidate’s first language. 
	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced by the candidate’s first language. 

	 
	 

	3–4 
	3–4 

	Use of a restricted range of vocabulary and structures. Frequent repetition of the same words and phrases. Some attempt (not necessarily successful) at the use of more complex sentence structures. 
	Use of a restricted range of vocabulary and structures. Frequent repetition of the same words and phrases. Some attempt (not necessarily successful) at the use of more complex sentence structures. 

	Span

	0–2 
	0–2 
	0–2 

	Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns). Frequent first language interference. 
	Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns). Frequent first language interference. 

	 
	 

	0–2 
	0–2 

	Only simple sentence patterns. Very limited vocabulary. Very limited range of structures. 
	Only simple sentence patterns. Very limited vocabulary. Very limited range of structures. 

	Span


	APPENDIX 2 
	 
	Transcripts of Listening Texts 
	 
	 
	Task 1: Listening             
	 
	 

	 
	“Podcast about “Life goals for young people”  
	 
	સમયજનય વડીલો ઘણી વખત કહેતય હો્ છે કે આપણે આપણય જીવનને વનધયાડરત ડદશય આપવય મયટે કેટલયક આદશો જીવનમયાં અપનયવવય જોઈએ કયરણકે તેમનય મત મુજબ આદશા કે ધ્્ે્ વગરનુાં જીવન સુકયન વગરની નૈ્ય જેવુાં બની જા્ અને ગમે ત્્યાં ભટકયઈને તૂટી પડે. આથી પોતયની કે પડરવયરની ઇચ્છયઓને મયન આપીને કોઈ યુવયનને ઇજનેર બનવુાં હો્ છે તો કોઈકને વકીલ. કોઈ ડોતટર બનવય ઇચ્છે છે, તો વળી કેટલયાંક પોતયનય પડરવયરની પરાંપરય જાળવવય ધાંધયમયાં કે રયજકયરણમયાં ઝાંપલયવે છે. પરાંતુ દરેકને કય્મ સિળતય મળતી નથી અને ઘણી વખત હયરનો સયમનો પણ કરવો પડે છે.  
	 
	ક્યયરેક આપણય કેટલયક આદશો તથય ઉેશો વયસ્તવવકતયથી દૂર હો્ છે અને કોઈ કયરણસર આપણે તેને પૂરયાં કરી શકતયાં નથી તેથી વનષ્િળતયનો સયમનો કરવો પડે છે. એવય અસાંખ્્ ઉદયહરણો છે જ્યાં કેટલયકનયાં સપનયાંઓ સયકયર થ્યાં છે તો અનેક લોકોનય સપનયાંઓ ગાંજીિયનય મહેલની જેમ કકડભૂસ થઈને તૂટી પડ્યાં છે. આથી આપણને ઘણી વખત ઘોર વનરયશય થય્ છે. તેમ છતયાં જે મનુષ્્ોએ જીવનમયાં સપનયાંઓ જો્યાં છે તેઓ વનષ્િળતયઓથી ક્યયરે્ હયરતયાં નથી. તેઓ પોતયનય જીવનમયાં હાંમેશયાં ઉચ્ચ આદશો તેમજ ઉેશો રયખી આગળ વધે છે. તેથી જ શયણય લોકોનો જીવનમાંત્ર હો્ છે “મન હો્ તો
	 
	 
	 
	સવાલ ૨ : શ્રવણ  
	ગુજરાતની લોકસંસ્કૃતત તવશે રેફડયો પર એક વાતાાલાપ    
	 
	ગુજરાતની લોકસંસ્કૃતત  
	 
	સુકેન: જ્યરે જ્યરે આપણે ગુજરયતની લોકસાંસ્કૃવતની વયત કરીએ ત્્યરે ત્્યરે જૂનુાં પુરયણુાં ભયરતી્ વયજજિંત્ર વગયડીને લોકકથય કહેતય કે ભજન ગયતયાં કોઈ વૃદ્દ વ્્સ્તતનો ચહેરો આપણી નજર સમક્ષ આવે. આપણયમયાંનય ઘણય લોકો એવો મત ધરયવે છે કે લોકસયડહત્્ એ તો મયત્ર અભણ તથય ગયમડડ્ય લોકો મયટે જ હો્. આથી યુવયન શહેરીજનો નયકનુાં ટેરવુાં ચડયવી, શહેરી સાંસ્કૃવતનય વખયણ કરવયમયાંથી જ ઊંચય ન આવે. લોકસાંસ્કૃવત મયત્ર મનોરાંજનનુાં જ સયધન નથી, પણ તે લોકોનય જીવન સયથે વણય્ેલી છે. ગુજરયતીઓ તરીકેની આપણી અસ્સ્મતય તેમજ આગવી ઓળખ દુવન્યમયાં સ્થયવપત 
	 
	P
	Span
	રીમય
	:   ઘણી વખત લોકસયડહત્્
	મયાં વપરયતી ભયષય વવવવધ પ્રદેશોની લોકબોલી હો્. વળી પહેલયાંનય 
	સમ્મયાં છયપકયમની કે અવયજને ્ાંત્રોની મદદથી ચચરકયળ સુધી સયચવવયની સગવડો પણ ન હતી. મોટય 
	ભયગનુાં લોકસયડહત્્ કાંઠસ્થ થતુાં
	 
	અને પછી રજૂઆત પયમતુાં જે સયમયન્્ લોકોને સમજવુાં અઘરુાં 
	પડતુાં 
	અને 
	તેને કયરણે તેમનો રસ ઊ
	ડી 
	જતો
	. એક પેઢી પોતયની બીજી પેઢીને આ કલયવયરસો સોંપતી. આમ અમુક 
	પડરવયરોમયાં આ પરાંપરય પેઢીઓથી ચયલી આવે છે. સમ્યાંતરે લોકસયડહત્્ તથય લોકકલયઓ મયત્ર ભસ્તત 
	સુધી સીવમત ન રહેતયાં 
	પ્રકૃવત
	નય વવવવધ રૂપો જેમ કે વનસ્પવતઓ અને વૃક્ષો, પશુ
	-
	પક્ષીઓ તેમજ ઝરણયાંઓ, પવાતો સુધી વવસ્ત્યું. કદયચ આને કયરણે જ આપણે
	 
	લોકસાંસ્કૃવત
	ને સ્વીકયરવય લયગ્્યાં
	. 
	 

	 
	P
	Span
	સુકેન
	: એક સમ્ એવો હતો કે 
	લોકસાંસ્કૃવત
	ની ઉપેક્ષય થતી, પરાંતુ હવે પયરાંપયડરક રાંગબેરાંગી કપડયાં, બેનમૂન 
	હસ્તકલય, ગુજરયતનય કુશળ કયરીગરો 
	દ્વયરય
	 
	તૈ્યર થતુાં રયચરચીલુાં વગેરેનો મોભો વધ્્ો છે. હુાં દર વષે 
	મોટય 
	પય્ે 
	આવી કલયકયરીગરીની વનકયસ વવદેશમયાં કરુાં છાં
	.
	 
	તેમજ સ્થયવનક રોજગયરને વધયરવયમયાં મયરુાં ્ોગદયન 
	આપુાં છાં.
	 
	સરકયર પણ બેરોજગયરી ઘટયડવયનય હેતુથી લોકકલય તથય હુન્નરને ઉત્તેજન આપતય લઘુ કુડટર
	 
	ઉદ્યોગોને નયણયાંકી્ સહય્તય આપે છે. કચ્છમયાં દર વષે સરકયર દ્વયરય ્ોજાતય 
	રણોત્સવ જેવય કય્ાક્રમો 
	વવશ્વભરનય સહેલયણીઓમયાં અત્્ાંત પ્રચચલત બન્્ય છે. 
	“
	ડેસ્સ્ટનેશન વેડડિંગ
	”
	 
	મયટે ભયરત જતય કે ભયરતમયાં 
	રહેતય જુવયવન્યઓ હવે 
	લગ્ન પ્રસાંગોમયાં
	 
	લોકસાંગીતનય કલયકયરોનો ડય્રો કે 
	લોક હયસ્્
	કલયકયરોનો જલસો 
	અથવય પયરાંપયડરક ગરબય
	-
	રયસ વધયરે પસાંદ કરવય લયગ્્ય છે. તેમજ ભોજન સમયરાંભોમયાં વવદેશી વયનગીઓની સયથે હવે રોટલય, કઢી તથય મસયલય ખીચડી જેવુાં સયદુાં અને સુપયચ્્  પરાંતુ સ્વયડદષ્ટ ભોજન પણ યુવયનો બહુ પ્રેમથી આરોગતય થ્ય છે. ભયરતી્ ડિલ્મોની કથયવસ્તુમયાં પણ ગ્રયમ્્ તથય શહેરી જીવનનય પ્રસાંગો મુખ્્ સ્થયને રહે છે. તેમજ લોક કવવઓએ લખેલયાં તથય લોકસાંગીતનય કલયકયરોએ ગય્ેલયાં ગીતો લોક જીભે રમતયાં થ્યાં છે. 
	 

	  
	રીમય: સરકયર, વ્્યપયરીઓ તથય યુવયનો લોકસાંસ્કૃવતનુાં મહત્વ સમજી રહ્યાં છે તથય તેનય વવવવધ રૂપોને ગૌરવપૂવાક અપનયવી રહ્યાં છે. પરદેશમયાં વસતય ગુજરયતીઓ પણ પોતયની લોકસાંસ્કૃવતમયાં રસ લઈ રહ્યાં છે. આપણી લોકસાંસ્કૃવત આપણય ભવ્્ ભૂતકયળ પરથી પડદો ઉપયડે છે. તેને આપણય સમયજનુાં દપાણ ગણવયમયાં આવે છે. તે જરૂર ચચરકયળ સુધી જીવાંત રહેશે.  
	OCR (Oxford Cambridge and RSA Examinations) 
	The Triangle Building 
	Shaftesbury Road 
	Cambridge 
	CB2 8EA 
	 
	OCR Customer Contact Centre 
	 
	Education and Learning 
	Telephone: 01223 553998 
	Facsimile: 01223 552627 
	Email: 
	Email: 
	general.qualifications@ocr.org.uk
	general.qualifications@ocr.org.uk

	 

	 
	www.ocr.org.uk
	www.ocr.org.uk
	www.ocr.org.uk

	 

	 
	 
	For staff training purposes and as part of our quality assurance 
	programme your call may be recorded or monitored 
	 
	Figure



